
Sample MCQ’s For TY BSc (19-20 batch only) 

Branch: IV (Community Resource Management) 

 

Subject: Residential furnishing and kitchen planning 

Semester: VI  Class: TY BSc 

 

Instructions: 1. All MCQ’S have to be attempted 

                       2. Each MCQ carries 2 marks 

                       3. Read each statement carefully and mark any one option out of the four  

                           Options that you think is the correct answer 

                       4. No negative marking for wrong answers 

 

1. Flooring of a store room should have 

a. Durability and sustenance to wear and tear 

b. Light colours & smooth finish 

c. Glossy book with dark colours 

d. Fire resistance properties 

Correct answer: option “a” 

 

2. A double bed should have  

a. Island type of arrangement 

b. L-shaped type of arrangement 

c. Peninsula type of arrangement 

d. U-shaped type of arrangement 

Correct answer: option “c” 

 

3. Furniture should be designed according to the  

a. Latest trends & design to make it look luxurious 

b. Posture adopted by performing various activities or at rest 

c. Specifications of clients even if it is uncomfortable 

d. Budget decided by the client 

Correct answer: option “b” 

 

4. The chesterfield sofa is known for its 

a. Velvet upholstery 

b. Quilted or tufted style 

c. High backrest  

d. Low seating  

Correct answer: option “b” 

 

5. Utility accessories should be considered in relation to 

a. The size & shape of the accessories  

b. The colour & brightness which it will bring in the room  

c. The particular function of space in which they will be placed  

d. The luxury statement they give  

Correct answer: option “d” 

 

 

 



6. This material is known for offering security, which is why it is often used for the main 

entrance door 

a. Wood 

b. Steel 

c. Aluminium 

d. Glass 

Correct answer: option “b” 

 

7. If there are going to be 2 cooks working together in a kitchen, a work  aisle of this 

dimension should be given 

a. 36” wide 

b. 48” wide 

c. 60” wide 

d. 32” wide 

Correct answer: option “b” 

 

8. The main disadvantage of an acrylic kitchen sink is that 

a. It is expensive 

b. It is a dull looking material 

c. It is heavy and difficult to install 

d. It is not tolerable to heat 

Correct answer: option “d” 

 

 

9. What among the following is a disadvantage of a vinyl rolled down flooring? 

a. Easy damage from wear and tear 

b. Tough maintenance 

c. Not durable 

d. Cold to touch 

Correct answer: option “a” 

 

10. It is generally unsuitable as a kitchen wall finish as it attracts dirt and is difficult to 

clean. 

a. Wallpaper 

b. Brick wall 

c. Ceramic tiles 

d. Paints 

Correct answer: option “b” 

 

  



Subject: Hotel Housekeeping 

Semester: VI  Class: T.Y. B. Sc. 

 

Instructions: 1. All MCQ’S have to be attempted 

                        2. Each MCQ carries 2 marks 

                        3. Read each statement carefully and mark any one option out of the four 

options  

    that you think is the correct answer                     

                        4. No negative marking for wrong answers 

 

1. Which of the following hotel department is a back-of-the-house area? 

a. Front Office Department 

b. F & B Department 

c. Hotel operated gift shop 

d. Human Resources Department 

              Correct answer: option “d” 

 

2. The room is expected to become vacant after the following guest checks out. 

a. OOO 

b. Check Out 

c. Due Out 

d. occupied 

  Correct answer: option “b” 

 

3. A method of linen exchange where the stock is brought up to the optimum level at 

periodic intervals 

a. Set amount 

b. Fresh-for-soiled 

c. Requisition 

d. Topping up 

  Correct answer: option “d” 

 

4. Agents that contribute to the volume of detergent powders 

a. Bulking agents 

b. Suspending agents 

c. Foaming agents 

d. Conditioning agents  

   Correct answer: option “a” 

 

5. These keys open all guest room doors that are not doubled locked. 

a. Grandmaster keys 

b. Emergency keys 

c. Master keys 

d. Floor master keys 

Correct answer: option “c” 

 

 

 

 

 



6. A guest indicates that she was bitten by a snake. What do you do? 

a. Apply ice to the wound and take to the nearest fire station or hospital  

b. Wash the wound, keeping injured area lower than the heart; get professional 

medical care within 30 minutes.  

c. Cut a 1” cross at the site if injury and suck the poison out, apply ice.  

d. Elevate injured area, apply ice, and get professional medical care within 30 

minutes. 

Correct answer: option “b” 

 

7. The name or logo of the establishment is put onto the linen item for identification is 

called as__________________. 

a. Moutons 

b. Monogramming 

c. Packaging 

d. Naperising 

Correct answer: option “b” 

 

8. What does the acronym GRA mean? 

a. Guest Relation Associate 

b. Guest Relation Assistant 

c. Guest Room Accountant 

d. Guest Room Attendant 

  Correct answer: option “d” 

 

9. Elasticised net bags used in the collection of soiled / dirty linen for transport 

a. Cheese 

b. Break  

c. Skips 

d. Chute 

Correct answer: option “c” 

 

10. In Steam Presses, the plate which heats up is referred to as the ________.  

a. Buck 

b. Head 

c. Hotplate 

d. Flat iron 

  Correct answer: option “a” 

 

  



Subject: Environmental Issues and Challenges 

Semester: VI   Class: T.Y.B.Sc 

 

Instructions: 1. All MCQ’S have to be attempted 

                        2. Each MCQ’s carries 2 marks 

3. Read each statement carefully and mark any one option out of the four 

options that you think is the correct answer. 

4. No negative marking for wrong answer 

  

1 It’s one of the factors that worsen the effect of drought in country.               

a) Soil Irrigation 

b) Use of chemical fertilizers 

c) Planting of more trees 

d) Deforestation 

Correct answer : option “d” 

 

2 In India, this city releases its waste water into surrounding lagoons in which fish 

are reared and the water is used for growing vegetables. 

a) Mumbai 

b) Calcutta 

c) Kerala 

d) Assam 

Correct answer : option “b” 

 

3 This city which used to have serious smog problems due to traffic has been able to 

reduce this health hazard by changing a large number of its vehicles to CNG, 

which contains methane. 

a) Mumbai 

b) Calcutta 

c) Delhi 

d) Bangalore 

Correct answer : option “c ” 

 

4 Air pollution leads to following diseases 

a) Respiratory Diseases 

b) Gastro intestinal Diseases 

c) Cancer 

d) Hair loss 

Correct answer : option “a” 

 

5  Discharge of warm water into a river is called ____  pollution 

a) Nuclear Pollution 

b) Chemical Pollution  

c) Thermal Pollution 

d) Eutrophication 

Correct answer : option “c” 

 

 

 



6 The fibrous waste of this industry is the world’s largest potential source of biomass 

energy. 

a) Rice processing industry 

b) Wheat processing industry 

c) Sugarcane industry 

d) Fish processing industry 

Correct answer : option “c” 

 

7 What is EIA? 

a) Ecological Impact Assessment 

b) Effective Impact Assessment 

c) Environment Impact Assessment 

d) Effective Industry Assessment 

Correct answer : option “c ” 

 

8 These Wastelands can be used for agriculture? 

a) Easily reclaimable wastelands 

b)   Reclaimable with some difficulty. 

c) Reclaimable with extreme difficulty 

d) Non-reclaimable wasteland 

Correct answer : option “a” 

 

9 Expand the term PCB . 

a) Pollution Control Board 

b) Printed circuit Board 

c) Polychlorinated biphenyls 

d) Pollution Control Band 

Correct answer : option “a” 

 

10 On Green Consumer Day one can create awareness in consumers about various 

products. 

a) Jan-28 

b) Mar-28 

c) Dec-28 

d) September -28 

Correct answer : option “d” 

 

 

  



Subject: Entrepreneurship developement 

Semester: VI  Class: TY BSc 

 

Instructions: 1. All MCQ’S have to be attempted 

                       2. Each MCQ carries 2 marks 

                       3. Read each statement carefully and mark any one option out of the four  

                           Options that you think is the correct answer 

                       4. No negative marking for wrong answers 

 

1. Entrepreneurship is a function of 

a. Foreseeing investment and production opportunity  

b. Learning business from others  

c. Undertake others business  

d. Running a family business  

Correct answer: option “a” 

 

2. A dynamic entrepreneur sets 

a. Difficult goals 

b. Attainable goals 

c. Unclear goals 

d. Workable goals 

Correct answer: option “b” 

 

3. Pure entrepreneur are those entrepreneurs 

a. Who are working for the society 

b. Who work according to their passion 

c. Whose only aim to earn money 

d. Who do not care about the profit 

Correct answer: option “c” 

 

4. What is the business practice of hiring a party outside a company to perform services 

and create goods? 

a. Franchising 

b. Partnership 

c. Outsourcing 

d. Leasing 

Correct answer: option “c” 

 

5. A start up is a company typically in the 

a. Early stages of development 

b. Middle stages of development 

c. Late stages of growth 

d. Stoppage of growth 

Correct answer: option “c” 

 

 

 

 

 

 



6. One should review their business plan when  

a. Planning to buy a new furniture 

b. Deciding salaries 

c. Finding good employees 

d. Introducing a new product 

Correct answer: option “d” 

 

7. Options that needs to be considered at the preliminary analysis stage of a project 

report should be 

a. Technically feasible 

b. Economically feasible 

c. Operationally feasible 

d. Legally feasible 

Correct answer: option “a” 

 

8. The amount of cash coming in the business in a cash flow statement is called as 

a. Profit 

b. Expenses 

c. Loss 

d. Revenue 

Correct answer: option “b” 

 

9. Which one is the odd one out? 

a. Lines of credit 

b. Short term goals 

c. Secured loan 

d. Long term goals 

Correct answer: option “c” 

 

10. Which of these is NOT a reason why a bank may reject a loan? 

a. Companies already in business 

b. Lack of solid business plan 

c. Lack of experience 

d. Inadequate personal investment 

Correct answer: option “a” 

 

  



 

Subject: Workplace Safety and Total Quality Management 

Semester: VI  Class: T.Y. B. Sc. 

 

Instructions: 1. All MCQ’S have to be attempted 

                        2. Each MCQ carries 2 marks 

                        3. Read each statement carefully and mark any one option out of the four 

options  

    that you think is the correct answer                     

                        4. No negative marking for wrong answers 

 

1. Why should near misses be reported?  

a) To educate employees  

b) To test the first aider  

c) To ensure complete recovery  

d) To stop a more serious event occurring 

Correct answer: option “d” 

 

2. What is ISO? 

a) Indian organization for standard 

b) Internal organization for standard 

c) International organization for standardisation 

d) Indian School of Organisational Behaviour 

Correct answer: option “c” 

 

3. "Poka-yoke" is the Japanese term for ______________ 

a) Card 

b) Fool proof 

c) Continuous improvement 

d) Fishbone diagram 

Correct answer: option “b” 

 

4. What is the main purpose of hazard identification? 

a) To minimise the effect of a consequence 

b) For better risk management 

c) To characterize adverse effect of toxins 

d) To reduce probability of occurrence 

Correct answer: option “a” 

 

5. Decibel (db) is a unit used to measure 

a) Light 

b) Sound 

c) Frequency 

d) None of the above 

Correct answer: option “b” 

 

 

 

6. What is the importance of occupational health? 



a) It concentrates relationship between work and individual health and prevent from ill-

health 

b) It provides the legal obligation 

c) Occupational health is important to understand the hygiene requirement 

d) It is important to maintain good relationship between employee and employer 

Correct answer: option “a” 

 

 

7. The Japanese word Seiton refer to? 

a) Orderliness 

b) Cleanliness 

c) Tidiness 

d) Clarity 

Correct answer: option “c” 

 

8. _________ are solid particles slightly heavier than air but often suspended in it for a 

period of time. 

a) Vapours  

b) Dusts 

c) Gases 

d) Mists 

Correct answer: option “b” 

 

9. All of the following are routes of entry by which chemicals may enter the body except: 

a) Osmosis 

b) Ingestion 

c) Inhalation 

d) Absorption 

Correct answer: option “a” 

 

10. Which pairing of foot and leg protection types matched with hazards they protect against 

is incorrect? 

a) Leggings - Heat hazards 

b) Metatarsal guards - Impact and Compression 

c) Electrically conductive shoes - Static electricity build up 

d) Foundry Shoes - Open circuits 

Correct answer: option “d” 

 

  



Subject: Brand and Retail Management 

Semester: VI  Class: T.Y.BSc 

 

Instructions: 1. All MCQ’S have to be attempted 

2. Each MCQ’s carries 2 marks 

3. Read each statement carefully and mark any one option out of the four 

options that you think is the correct answer. 

4. No negative marking for wrong answer 

 

1 In a complex and mature marketplace, a strong _______________ emerges as the 

key differentiator.  

a) Institution 

b) Retail Brand 

c) Company 

d) Advertisement 

Correct option ‘b’     

                                                                                                                     

2 Products manufactured by one company but sold under another company’s brand 

name are called as – 

a) Labelled products. 

b) Private Label Products 

c) Branded products 

d) Sale products. 

Correct option ‘b’     

                                                                                                                       

3 The first step towards building a Brand is -  

a) Brand Building 

b) Research & Audit 

c) Brand Definition 

d) Brand Positioning 

Correct option ‘b’   

                                                                                                                          

4 FIPB stands for - 

a) Fast Investment Promotion Board. 

b) Foreign Investment Promotion Board  

c) Fixed Investment and Planning Bank 

d) Fixed Investment and Planning Bank 

Correct option ‘b’   

                                                                                                                          

5 In the retails world what are the 4 main characteristics of a consumer? 

a) What customer wants? When they want? Where they want? 

b) Particular demand, Capacity to buy, Decision making power, Ease of 

availability. 

c) Cultural background,  Religious background and beliefs, Values of customer 

d) consumers needs of food, home and job 

Correct option ‘b’  

                                                                    

 

 

                                                    



6 __________________   is a marketing concept that is always evolving 

a) Corporate retailing 

b) Electronic retailing 

c) Non store retailing 

d) Multichannel retailing 

Correct option ‘a ’  

                                                                                                                                                               

7 With respect to Multi Channel retailing what are CSE's?  

a) Comparison Shopping Engines 

b) Certificate of Secondary Education 

c) Computer Science & Engineering 

d) Consumer Shopping Electronics 

Correct option ‘a ’   

                                                                                                                      

8 It is concerned with the smooth buying and selling of goods and services. 

a) Commerce 

b) Industry 

c) Marketing strategies 

d) Business 

Correct option ‘a’    

                                                                                                                      

9 It’s basically acquiring the rights for a proven business model. 

a) Independent Retailer  

b) Network Marketing  

c) Franchise 

d) Dealership 

Correct option ‘c ’   

                                                                                                                        

10 This has resulted into growth of organized retailing in India 

a) Growth of middle class consumers 

b) Value for money 

c) Emerging rural market 

d) Technological impact 

Correct option ‘a’    

                                                                                                                      

 

****************************************** 


